Year 8 – Bearings and Map Scale
[image: ]
	B from A
	

	A from B
	

	C from B
	

	D from C
	

	A from D
	

	D from A
	




1. If a map scale is 1:100 000, and two locations are 6.2 cm apart on the map, what distance in km does this represent? 

____________________
2. If a map scale is 1: 5000, and two locations are 3.2km  apart, how far are they away on the map in cm?

____________________
3. Bobville and Daveton are 4cm apart on a map, but 1km apart in real life. Determine the scale of the map.

____________________

[June 2012 NonCalc Q14] 4. The diagram shows the position of a lighthouse L and a harbour H.
			[image: ]
The scale of the diagram is 1 cm represents 5 km.
(a) 	Work out the real distance between L and H.			     .............................................. km

(b) 	Measure the bearing of H from L.				      .............................................°

A boat B is 20 km from H on a bearing of 040°_
(c) 	On the diagram, mark the position of boat B with a cross (×).
	Label it B.

[Nov 2012 NonCalc Q14] 5. The bearing of a ship from a lighthouse is 050°
Work out the bearing of the lighthouse from the ship.


..............................................°
6. A map scale is 1cm : 1km. 
a) From town A, identify the location of a town B at a bearing of , 6km away. 
b) Identify also town C, which is at a bearing of 310 from A at a distance of 5km.
c) Determine the real distance from town B to town C.              _____________
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7. A scale on a map is 1: 5000.
a. What does a distance of 13.1cm on the map represent in real life, in km?

____________________ km
b. How far on the map do two locations appear on the map if they are 1.4km apart?

___________________ cm
8. 5cm represents 20km is real life. Determine the map scale.

________________
9. 10cm represent 0.5km in real life. If the map scale is , determine .

_________________

· (No protractor permitted) The bearing of B from A is . The bearing of C from B is . If  is the same distance as , determine the bearing of  from .

Solutions:
6 (c) 9.54cm
7. (a) 0.655m  (b) 28 cm
8. 1 : 400 000
9. 
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